Class XII
Maths Assignment
                                                 Matrices and Determinants

1. The sum of three numbers is 20. If we multiply the third number by 2 and add the first number to the result, we get 23. By adding second and third  numbers to three times the first number, we get 46.Represent the above question algebraically and solve using matrix method.

                                                                                                    (Ans: 13,2,5

2. Find a,b,c when f(x) = ax2+bx +c , f(0) =6,f(2)=11 and f(-3)=6.Determine the quadratic function f(x) and find its value when x=1 using matrix method.                                                                             (Ans: ½ x2+  3/2 x +6
3. A school wants to award its students for the value of Honesty, Regularity and Hard work with a total cash award of Rs. 6000. Three times the award money for Hard work added to that given for honesty amounts to Rs.11000.The award money given for Honesty and Hardwork together is double the one given for Regularity. Represent the above situation algebraically and find the award money for each value, using matrix method. Apart from these values , namely Honesty, Regularity and Hard work, suggest one more value which the school must include for awards.
4. An amount of Rs.10000 is put into three investments at the rate of 10%, 12%,  15%  per annum. The combined income is Rs.1310 and the combined income of first and second investment is Rs.190  short  of the income from the third. Find the investment in each using matrix method.

                                                            (Ans: 2000, 3000, 5000

5. Find the matrix A satisfying the matrix equation

            2      1      A            -3     2                           1      0

            3      2                      5    -3            =             0      1


( Ans:          1     1
1 0

6. The sum of three numbers is 2. If twice the second number  is added to the sum of first    and third  we get 1. On adding the sum of second and third numbers to five times the first, we get 6. Find the  three numbers by using matrices.  (Ans:1,-1,2)
7. Solve for x:          a+ x      a –x    a- x

                               a –x     a+ x     a- x     =0

                               a –x    a – x     a+x

8.   If x ≠ y ≠ z  and         x         x3      x4  - 1

 Y         y3  y4  - 1        =  0     .  Prove that  xyz(xy+yz+zx)= x+y+z.

z        z3        z4  -  1

 9 .   Show that  x = 2 is a root of  the equation

x   -6      -1

                                           2   -3x    x-3

                                           -3    2x   2+x

 10.   If  a, b  and c all positive , are pthqth and r th  terms  of a G.P . Prove that

Loga       p       1

Logb      q        1          =    0 .

Logc      r         1 

